[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

v 4

................................................

...............................................

..............................

1.0

Ratio

1

R o o e ML I L UL LN IR AR LN LLRRN LRARE RN
N S N N N
D e D D

=

HE3

10

=
2
N

1

10 0?
TP vertr (cr%)

f_origina

M—s— DQM_VUUUI_RU0UU0U000T _Global_—mKFT_orginar
—— DQM_V0001_R000000001__Global_mkFit_pless

——— . DOM_V0001~R000000001_Global _mKFit_hptt
Efficiend = 53Mv0001-R000000001GlobalMKFit new

~ 0.1

T RRCR NI SRR SO0 |

[ é :
>0.08:- .--. -------------------------------
> F H
8 : : . .
O = | R e o
o o .
£ 0.08FF - L
o F : :
0.05ff {5 oo [ireeensboen b b il
0.04F
0.03Ff poenenebes L A
C " y b
0.02f e Beeeene § :
E oAl e LR
0.0t [T Ffosssatty
Y RN P/ P SN U B P
T r i
hd N H
g i
9™ -20 -10 0 10 20

[ Efficiency vs. sim PV z |

30
TP vert z (cm)

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

&

..............................

..............................

...............................

1.0

el RR R LRRRN LR RRRRN RRRRNRARRN LELL

Ratio

=10

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


